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QUESTION 1

On a VSP G1000, the maximum I/O Request Limit for an external initiator port has been exceeded. What are two
consequences of this activity? (Choose two.)

A. New writes will back up into the VSP G1000 cache.

B. The host will see rapidly rising response times per request.
C. The host will see a minor change in response times.

D. The host will not be able to process new I/O requests.

Correct Answer: CD

QUESTION 2

In a VSP G200 system, what are two advantages of RAID 1+0 compared to RAID 5/6 for random write workloads?
(Choose two.)

A. RAID 1+0 provides more useable capacity per for the same number of drives.
B. RAID 1+0 has less processing overhead.

C. Disk virtualization is lower.

D. RAID 1+0 has more efficient pre-fetch operation.

Correct Answer: AC

QUESTION 3

Which two statements are true regarding HDP pools? (Choose two.)

A. Using the largest possible pools is a recommended practice.

B. Exposure to failure and recovery from failure must be considered when recommending the maximum size of a pool.
C. HDP pools can be used for sizing HDT pools.

D. Tier migration is based on performance and space capacity.

Correct Answer: AC

QUESTION 4

A customer has several Oracle databases with different workload profiles residing on old HUS systems. The customer
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wants to consolidate workloads on a new VSP G800 system to increase database performance and to reduce costs.
Which configuration would you use to accomplish this task?

A. Put all of the databases in a single HDT pool.

B. Put each database in its own HDT pool.

C. Put databases with the same workload profile together in their own HDT pool.

D. Put all database tablespaces and indexes in the first HDT pool, all redo logs in the second HDT pool, and all undo
logs in a third HDT pool.

Correct Answer: A

QUESTION 5

What are two appropriate criteria for evaluating a batch job performance? (Choose two.)
A. elapsed time and/or throughput (MBs, IOPS)

B. storage response time

C. customer requirements

D. host initiators utilization

Correct Answer:. AB
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